Y Y

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION Loc DIST REV'SIONS

@ COPYRIGHT - BY TYCO ELECTRONICS CORPORATION. ALL INTERNATIONAL RIGHTS RESERVED. AI 00

P LTR DESCRIPTION DATE OWN APVD

D | ECR-14-012060 11AUG14 | LS | GS

A HEXAGON SOCKET SCREW KEY 2.5 IS FIXED AT HAND TOOL

2. INSTRUCTION SHEET IS IN SCOPE OF DELIVERY
TE P/N 5-744001-2

3. PACKED IN ONE BOX

STE

96

A OPTION
4. REPAIRKIT, TE P/N 539635-2

CONSISTING OF:

10 DIE RETAINING SCREW, M4x11
® 11 DIE RETAINING SCREW, M4x10
Y 12 ADJUSTMENT WHEEL

13 RETAINING PLATE 4
205 14 SCREWED STOP PIN, M3x5
! 15 TENSION SPRING

+ - - A 10
g I] ] ( ) gV
f 11
14
12
SPARE PARTS
POS | QTY |REV TE- P/N DESCRIPTION
2 1 A 519151-9 |Linsenkopfschraube, M4x10
3 1 A 8-539634-5 |Linsenkopfschraube, M4x11
DSNR o 28JAN99 -
THIS DRAWING IS A CONTROLLED DOCUMENT. | 2-RE€lssld IR0 -— TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS U. Reuter
o OTHERWISE SPECIFIED APJDReuter 03FEB99 | nave
oL N PRODUCT SPEC ERGOCRIMP HAND TOOL
= @ e 1 ERGOCRIMP Handzange
APPLICATION SPEC
ANGLES + SIZE | CAGE CODE DRAWING NO RESTRICTED T0
MATERIAL FINISH GEW“"‘/WE(‘)Q"‘E‘ZK% A3 | 00779 @Z’ 539635-1
CUSTOMER DRAWING 9185 ™ 1.1 D

TE 3306-7 REV 28APR2009 ‘

Downloaded From  Oneyac.com ‘ ‘
8 ‘ ‘ 5 4 3 2 1

| -



https://www.oneyac.com

72\
B rrae{dsl HIEFHEEF RS
owc [IEEE mrgm - IEMmINEE - —{EpE

B N AT B T, AR, AT A RS R

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

